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96 k-ft — 12 k-ft = 1008 k - 1n. 12k-ft = 144 k -in.
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4 3 N 2
7.430 1069.9  —7.430 1069.9 |
1069.9 205 417 —1069.9 102 708

—7.430  —1069.9 7430  —1069.9
1069.9 102708 —1069.9 205417
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5 2 6 1
200.602 9628.91  —200.602 9628.91
9628.91 616 250 —9628.91 308 125

—200.602 —9628.91 200.602  —9628.91
9628.91 308 125 —9628.91 616 250
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[ 144 [ 616250 308125 0 0 962891 —962891 | [ D, |
1008 308125 821667 § 102708 1069.9  8559.01 —9628.91 D,
0, 0 102708 | 205417 10699 —1069.9 0 0
o) 0 1069.9 | 1069.9 7430  —7.430 0 0
Os 962891  8559.01 | —1069.9  —7.430 208.03  —200.602 0
| O | —9628.91 —9628.91 0 0 —-200.602 200602 | | 0 |

144 = 616 250D, + 308 125D,
1008 = 308 125D, + 821 667D,

D, = —0.4673(107) in
D, = 1.40203(1073) in.




